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52. Julie like to visit Kyoto when she is in
7 Japan.
{a) should (b) could
(c) would (d) will
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(a) Mymom makes ____ food.

{b) Sonu is my friend.

(c) My teacher sings SONgs.

(d) My dad buys me toys when we go out.

Ans : () Delicious W2 F1 3 =R2w o1 weftwr =
(9= & fom wEm 5 @ 21 = S (a) My mom
delicious food FH o =fRE d=v = &)
S w1 Y &) 5 e § e s # -
(b) i # w=ifE fim @ (%)
l|c1hmﬁmﬂmnﬁ1§{xl
\(d) T i it =ifeE Rae =lisd #1(x)
|L:-m fasea (a) T #1
59. The students misbehaved in class. What does the
waord mishehaved mean?
(a) behaved well
{b) behaved quietly
(c) behaved badly
(d) behaved in an appreciable way

HAm:[:] "Mis’ english language ¥ Prefix (3580) #1 =
¥ % WO § 99 5 99 & mis F noun T Verb
I!ﬁwﬁﬂﬁnﬁwm#wmd{wwnﬁm

iiﬁmlél s %59 (c) behaved badly l.‘igniﬂiﬂqr-
imm}ﬂ'&%u 4 f@e9 § 34 BAT: behaved

well 37 T FA, behaved quictly wagEs
R T AR ) W B o B b

Directions: Read the passage. Then answer the
questions below. (Questions 60-64)
As the moon travels around the earth, it appears 1o
| change shape. We associate certain names with certain
shapes of the moon. For example, when we can see a
small part of the moon. it is called a crescent moon. A
| crescent is a shape that looks like the tip of a fingernail.
When we cannot see the moon at all, it is called a new
| moon. When we can see the entire moon, it is called a
full moon. Usually, there is only one full moon every
| month. Somctimes, however, there will be two full
| moons in one month. When this happens, the second full
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moon is called a "blue moon.”
will only be 15 blue moons. As you can see, a blue
is a very mare event. This fact has led people 1o use
the expression "once in a blue moon® to describe other
very rare events in their lives.

60. The moon travels around the earth and appears |

to change its
(a) Size (b) Shape
{¢) Place (dy Colour

%An:[b)mgﬂ%ﬂﬁmmmiaﬁ{mi

I g W Em 21 =m fEes (b) shape (FIFFE)| |

TG #1 passage F1 T e ¥ TE #1
61. When can we say that it is a blue moon?

{a) when there are two full moons in one month

(b) when the moon has a blue color

{c) when we cannot see the moon at all

(d) wln:nwec:anmﬂysccaﬂm]lpanofﬂlcnmn
[_.-\ns (a) e T we-EE = ww T ¢ 5 A o
{27 39 I99 passage F 10, 11, 124 9i% & mw fE
T £
13- ﬁﬁq{a} when there are two full moons In one
lmﬂnlh & IR

62. “e :l.ll il a new mnol when
{a) we can see the entire moon
(b) we cannot see two full moons
{c) we cannot see a moon
(d) the moon s in the shape of a semicircle

[Ans : (¢) Passge %t B 7 weell of5 @ = & 5 we ||

|call it a new moon when we cannot see a moon.
63. Give an example of something that has a
crescent shape other than a moon?
(a) the letter 'S’ (b) the letter D’
{c) the letter 'C" (d) the letter "0’
|Ans : (¢) 3 e AT 1 FET=R 21 T WL
Eﬁmaq::hﬂhkmcmmﬂmé[ |

H, What led the people to use the idiom "Once in a

Blue Moon?
(a) the fact that seeing a blue moon once a year
(b) the fact that seeing a blue moon is a very rare

event

(c) the fact that seeing a blue moon more than
once a year.

{d) the given data is nol sufficient to predict the
reason

|Ans (b) "Once in a blue moon' english language L

i.dmmsé mﬁaﬁqmmélmw
{79579 (b) The fact that seemgab!ul:mnmma\m
[mc\mtimﬁ'ﬁél

Over the next 20 years, |

GET IT ON
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65. Pick out the wrongly spelt word from the

following sentence.
"The birds chorping at the dawn wake me up.”
{a) birds (b) chorping

{c) wakes me up (d) moming

Ans : (b) T T FqF W= Chorping FYE #1 T
W@ F Chirping (e A iAW) #1 I B
(b) 71Z T R

T Dircctions ; Pactustc the soutcuce, picking w
the right option for the questions 66 to 69.

! 66. the mount everest is the tallest mountain when

measured from mean sea level.

(2) The Mount Everest

(b) the Mount everest

{c) Sealevel?

{d) SeaLevel!
Ans : (a) Proper noun (ZATSS H91) F1 #9I Capital
letters & foFar 9T #1 a9 & 54F Proper noun- The
Mount Everest 21 31: %o (a) I8 39 21
67. 1 wish I had a job I'm a great worker and I need

the money.
{a) job, {b) job:
{c) job; (d) job.

Ans : (2) 93 § §3% 399 (clause) W W B ¥
Rl comma & WaMT BT T 21 1 wish | had a job
HI I'm a great worker @i # ST clause #1 F
|| 2 % ot 3 B Comma B S B S
: {399 (a) S 21 7€ T34 | wish | had a job, I'm
great worker and I need the money.

68. IT1 could have repeated the project 1 would have

done things dilferently.

() Project: (b) project,

(c) project, i (d) project:
|Ans : (b) Principal clause ¥ Adverb clause ® 3%
ia;ﬁ%aﬁlqtomnm = YET R e &1 aeae T
i']f] could have repeat the project’ adverb clause 8 #2111
iwuu]d have done things differently’ principal clause #
|#: FF # S B F A Comma # ¥4M &M Z
|EI'I'=F*1r If 1 could have repeated the project, | would have

ldm:-e things differently.

|69, A baby always likes to snuggle up to his mother

to keep it warm
{2) warm? {b) warm!
{c) warm. (d) warm,

51


https://applink.adda247.com/d/XhqWf9lSap

Adda

r*ns:[:)l?ullnnparnﬁmam%mﬁéﬁrélm?

4|

@ FF opiative. exclamatory ¥ Interrogative

full stop F 4T FM
7S 93— A baby always likes to snuggle up to his|
mother to keep it worm. |

sentence ¥ ¥ # full stop F AW ¥ g 21 G |
TR T A Assertive Sentence 31 3i: T¥ & 34 1|
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| 73. Ishall take rest May.
(a) on (b) from
(c) at (d) upto

|Ans : (b) From ¥ 34 # F & 2 'from’ Preposition
/=1 %4 Point of Time % &= & a1 59 21

|3 T 59 1 shall take rest from may. 3%: fEes
\(b) = 21

Directions : Complete the below sentences by

choosing the correct prepositions/verbs from the

options given for the Questions T0 to 73.

70. 1 received this message Eight (' Clock |
the morning .
(a) at, on (b) on, in
(c) at.in (d) at. below
Ans : (¢) 93 F 99 F9 F F=¢ T Preposition ‘al’

= &M FEm = @ A moming, evening, oflernoon i
TEA Preposition in' =1 WA BT AR £

= I[F T

I received this message at Eight " Clock in the
morning.

71. As soom as he a2 certificate in English. he
will apply for a job.
(a) would got (b} got
(c) geis (d) will get

Anms : (¢) T Principal clause T3 subordinate ;-I.:uu:;
T future tense § & A subordinate clause F W
future tense ¥ ¥EM 7 FHF Present tense F1 T2M
w21 |

1 Iu_m?_l?ﬁ'%l

74. The subject and the verb in the sentence
"The children were sad."are
{a) the. were (b} children, were
(c) were. sad (d) sad. the

:.\.m : {b) The children were sad H the children subject

# 3 were helping verb # @m: ®Fe (b) Children

75. Put the verbs in the brackets as Present

Participle or Past Participle.

(Look) down from the tower we saw many

people walking in the streets.

(a) Looked {b) Looks

(e} Looking (d) Was looking
|Ans : (¢) Verb 5 First form § ing =1 597 &%
| Present participle F 7 & 71 98 Adjective T T4
4 21 ¥ B (c) Looking F1 ¥4m 7% #1
|7A: 7= T

| |Looking down from the tower we saw many people
\walking in the streets.

l -4 :

F: J[E& TR As soon as he gets a centificale in| |

English, he will apply for a job. 76, ST # FET Orw @ §) =it O e

= @ 30k 3 v v won @ el ¥

o, e = (a) 7FH by =

7 s (o | h . | (c) = (d) Ui

72. Quick!____the bus. It is ready to leave. P G — s G gy g
{a) Look for (b) Geton TS . N
(c) Pull off (d) Take off ‘T 9 % fou vw w= T dm =R 3

|Ans : (b) 959 § RS ™A W phrasal verb get on (9]
=) | WM A0S £
I F, W § W =, T 24 | AW {1 A
%= (b) TE 71 37 phrasal verb F1 &7 319 §1
Look for — AT ST

pull off — ==t HeT T

Take off — 351

|| [& 38 i =

_ AR A F o aids ve v A g

|| T v am o § g @6 € S s @ weg

77. 't =t = 9’ = T we £
(a) = (b) =fF
(c) Tuf (d) S

|Ans : (a) T T =1 TET AR BeoE 1 T4 6 OF
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78. Fw-fadw # g3 = wvdn g Twitsa =

4|

7 TF V= T
(a) aF by
(c) =% (d) TFEE

|e!u|s () W—WHWWWQ@H! T §
lﬁ'ﬂﬁﬁl T @ A F A, Hgamm
[T A o e S mmaﬁmmis’i
(fore. iz’ 7w A A

79. hﬂmﬂﬁiﬂﬁﬁﬁﬂﬂtmm

VI FAET A e g T
a) & (b) ST &
{c) ¥ T (d) ¥ fom

Ans : (¢) 798 § fiF =@ # O 5 AU F FA
me ¥ [ AFE F-ARE % FAW I
7z T 9 s =

80. TEE WA i s aftsm fam
(a) =TT by 3R
(c) FEE (dy ¥ fom

lans:(drmiﬁmmﬂqﬁ%m%m'm
‘tﬁs‘iﬂrsﬁ?!{ﬂméﬂn—mﬂﬁ%miﬁm
|WM|

81. forferar = smvan & g R
(a) F b &
(c) FHifR (d) =

Ans : 7T E fm = & off 5 e & mﬁ
rnaﬂmh@mmm—mmwmhm
[B”Iél
82, mﬁ#ﬁa—mmmﬁaﬂmﬁ
wE &
(a) § T T =W (b) == T T AW
(c) ¥ T = wm (d) &9 T W =W
[ﬁns:ta)‘ﬂmwmfamﬁaﬁ;@ﬁqgél}
lmﬁqmﬁﬁwm#mmﬁaéﬁti

gt & |

=
(a) 7 FA-FT T TH
(b) 3 S-S FM 9
(¢) ¥ TE-A A0 T2
(d) T2 T-T = A9 =
[a\nl :‘[_z}_ﬂ_ -5 am T mmm!ﬁ
[Hmél

GET IT ON
Google Play

fofor: Prosfafe sz = o @ o aw
o5t wv |, 84 # 88 7 & I 3G AW W Ham
T
e i e e maw A AR A
HEE T A € T9% 9% 69§99 9EEEn
T 2W 9EA £ AES SSEEm F oI 9
Hifd® GiviEl S 9O ST 9591 #1 SUSE g8
# e T #) WA B A W 2w f wed 8,
s 98 & # Stad a0 § e § ek ad
A 81 9% fok feum & 4 e semm 0§ e
TF TEE T 9feT) 9T T ol 5 w5 -
w # 77 = § = Rl ww, S, g
G 3% =5 AW =1 WH S Fed @ b WA wa
¥ fyam 3= #)

a4, R BT T am AT 7

(a) THEm F5E T
(b) == % gfE F
(c) SAA
(d) e F Ffr
Ans ; (d) T ® 3R dAeE A 3P A B 3 oA

'1&-ﬁ.mmmm.

85, THW T WEY ALE SEE A 29 2 W

£
(a) FRF (b) WFA
(c) A (d) FH

-!ms {¢) T 3 AN UEW W gEE #Um SeEeE
w3 S 41 wEE 8 = W A

ss. AT T el SHEn ma | T 87
(a) FEN (b) f=E
(c) TF AmE (d) i

|Ans : (d) A 31 A9 S FEEn e § w8 ‘

|87, W A e
53, Frafatzs @l o fF wdRm o 9

(a) F=Em (b) FFEm

(c) = (d) wEER
|Ans : (b) B %44 e = REAH B8 £ [
88. Tt & srE www Wt A e §7

(a) TEH A b) T E

(c) T & (d) Feww F

Ans : () Tt S 3 smEm a o F P o A |
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frdr: Frafafas srsde = o & ofgy of | 94, anwn Sfre= & v =1 waw =t &) rEitee

4|

T;rm H. 89F 93 7% F T IS W W ffewm

T AR U R s e i o W
faga fem wft sl 1 9ER TE W 5 R
& HiE Y54 & o T e S = T s

Iz w1 3 faem yee =R
(a) =4 (b) 38
(c) Frem (d) &

\Ans = () "o S # v S 21 i

ﬁw%ﬁﬁwaﬂ;mm%mim‘wﬂfmﬁﬁﬂmw&m [

4 w49 3 T = sR B e e 3 95

@ o ffew R @ w0
Fn, "7 T 9@ v W @ ota Rm

8" e 3 T, R A w2 [ R e e A s

W ¢ gafen gRm e S e e @

[Ans : (@) 7w % FER TE TR T e A
| &= %1 "
90. e ¥ farm w o T 2 a2
(a) fem F simwm (b) W
(c) Ffgm w (d) ®F W
[Ans : (a) TW ¥ wEE e 3 fafEw At A
P = S s
91. Zr= fore =1 W AE gu?
(a) € T IEFN T W oA
(b) e g% W =
(c) fafzm =f R 2 dh o
(d) ¥ W =H T °
[hns:{ﬂ&ﬂﬁﬁmﬂﬁgﬂﬁfﬁ?mmw
{5 =

| ' BT, SE W W S ae

(c) TOoT

T, T W R e e e
96. TETE ANA 9T HT T F Gg § U 37 T

Tgifea werat w1 Ad T 7
(a) & &M (b) T 3
(c) == B (d) ¥ TN

m:(:]‘ﬁlﬂﬁwiaﬁﬁw%igﬁvmmwr’f
TR 1 3 E-we E A CER T
i g8 & 9F S TS g 211 9 SEE R
97. ‘3= feamn werEt = e = g7
(a) TE% €90 (b)
(c) dim A (d) I g

|Ans : (a) ‘Sz Rl e w1 3 & S T A

98. =il § frary afirs §1 TEifEd yes = favna

AT
(a) foamd (b) =
(¢) =1 (d) ==

{Am::ey‘aﬁﬁiﬁammil'amﬁgmmi
|’ WA =m & e A i |

92, FWTENE T WA H 4 gB1Y
(o) W REm i
(b) fafsn fog o &
{c) TmhREwi
(d) T w wE
|Ans: () ZTr 2 SR A @, R RE @Y
93, e A wm I fgm?
() ThE®E
(b) Fafsm feg o @
() ok ffem Fi wa g 2 & &
(d) %= F > Fafe fog o #

[Ans = () o % ot o P Frts Fofsan o s fod] | |Ans 3 (¢) "1 A 5 7% 1t ot & o ot &1
|| [ Taifen ar ¥ fw v v g @

2 &

99, =AY = HAW T = TLE I 2 T4 AT

it gieg & dgaa aamgy)
(a) Aff (b)
(c) T (d) =

Ans : (b) TR F T A W oA A @ |

|| (e & Tmifen v ' = it wgEA AR f |

100. | | % e I a7 = UT9 =T §1 it

3w & fow U v =AEm
{a) TR (b) ==
(c) T (dy ==
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